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PROBABILITY

One Marks Questions With Answers

1. Given that E and F are events such that P(E)=0.6, P(F)=0.3 and

P(ENF) = 0.2,ind P(E/F) and P(F / E).

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VzsP01TdStmq

2.Find P(A/B), if P(B) =0.5 and P(ANB) = 0.32

o Watch Video Solution

3.1f P(A)=0.8,P(B)=0.5and P(B/A) = 0.4, find

P(A/B)

° Watch Video Solution

4.1fP(A)=0.8,P(B)=0.5and P(B/A) = 0. 4, find

P(A/B)

o Watch Video Solution



https://dl.doubtnut.com/l/_r344dzpgvfcj
https://dl.doubtnut.com/l/_JLJeDSeC31kC
https://dl.doubtnut.com/l/_bhO4Oeug7el7

5.1f P(A)=0.8,P(B)=0.5and P(B/A) = 0.4, find

P(AU B).

o Watch Video Solution

6. Evaluate P(A U B), if 2 P (A)
= P(B) = > d P(A/B) = 2
o Watch Video Solution
70F P(A) = > P(B) = — and P(AUB) = -, find
3 — ﬁ, — 1_1 an - ﬁ ’ n

P(AN B)

o Watch Video Solution



https://dl.doubtnut.com/l/_syJBg9OKbf4i
https://dl.doubtnut.com/l/_EooQDZ72nxNZ
https://dl.doubtnut.com/l/_BlbJYuWfwP5N

8.1f P(A) = —, P(B) = — and P(AUB) = — ,find

P(A/B)

o Watch Video Solution

6 5
0.1f P(4) = —, P(B) = — and P(AUB) = ——,find

P(B/A)

o Watch Video Solution

3 1
10. If P(A) = 5 and P(B) = 5 find P(A N B), where A

and B are independent events.

o Watch Video Solution



https://dl.doubtnut.com/l/_EMMtMTZyrR3a
https://dl.doubtnut.com/l/_jy1WvPscqt7O
https://dl.doubtnut.com/l/_8xZdrFZ02nAE

11. Two cards drawn at random and without replacement from
a pack of 52 playing cards. Find the probability that both the

cards are black .

° Watch Video Solution

Two Marks Questions With Answers

1. A coin is tossed three times

E : head on third toss F : head on first two tosses .

Find P(E/ F)

o Watch Video Solution



https://dl.doubtnut.com/l/_5EksKAfaandA
https://dl.doubtnut.com/l/_OArjvejeYgk5

2. Determine P(E/F) . A coin is tossed three times

E : atieast two heads F : atmost two heads

o Watch Video Solution

3. A coin is tossed three times

E : atmost two tails F : atleast one tail Find

P(E/F)

o Watch Video Solution

4. Two coins are tossed once, where

E : tail appears on one coin F : one coin shows head

Find P(E/ F)

° Watch Video Solution



https://dl.doubtnut.com/l/_71SSgiB9BgMR
https://dl.doubtnut.com/l/_7WAZKpCZGomo
https://dl.doubtnut.com/l/_OSBysYGoIIiW

5.Two coins are tossed once, where

E : no tail appears F : no head appears

Find P(E/F)

o Watch Video Solution

6. A die is thrown three times,
E: 4 appears on the third toss

F: 6 and 5 appears, respectively on first two tosses.

Find P(E/ F)

o Watch Video Solution



https://dl.doubtnut.com/l/_OSBysYGoIIiW
https://dl.doubtnut.com/l/_AbJQrj9b4Rkt
https://dl.doubtnut.com/l/_8RTvLhOAwZVS

7. Mother father and son line up at random for a family picture

E : son on one end F : father in middle

Find P(E/ F)

o Watch Video Solution

8.Ablack and a red die are rolled.
Find the conditional probability of obtaining a sum greater

than 9, given that the black die resulted ina 5.

o Watch Video Solution

9. A black and a red die are rolled.
Find the conditional probability of obtaining the sum 8, given

that the red dieresulted in a number less than 4 .



https://dl.doubtnut.com/l/_chh6TWqFxz3L
https://dl.doubtnut.com/l/_ooq5PazsbDZp
https://dl.doubtnut.com/l/_iMxW6Zo7DfGv

| o Watch Video Solution

10. A box of oranges is inspected by examining three randomly
selected oranges drawn without replacement. If all the three
oranges are good, the box is approved for sale otherwise it is
rejected. Find the probability that a box containing 15 oranges
out of which 12 are good and 3 are bad one will be approved

for sale.

o Watch Video Solution

11. A fair coin and an unbiased die are tossed. Let A be the
event 'head appears on the coin' and B be the event '3 on the

die'. Check whether A and B are independent events or not.

o Watch Video Solution



https://dl.doubtnut.com/l/_iMxW6Zo7DfGv
https://dl.doubtnut.com/l/_WOHTuZxRwALv
https://dl.doubtnut.com/l/_mpj32Kul3YqX

12. A Die marked 1, 2,3 in red and 4. 5, 6 in green is tossed. Let
A be the event, 'number is even's and B be the event, 'number

is red'. Are A and B independent ?

o Watch Video Solution

13. Let E and F events with
3 3 1
P(E) = E’P(F) =10 and P(ENF) = 5 Are E and F

independent ?

o Watch Video Solution

14. Given that the event A and B are such that

P(A) =1/2,P(AUB) =3/5 and P(B) = P . Find p, if


https://dl.doubtnut.com/l/_mpj32Kul3YqX
https://dl.doubtnut.com/l/_oYkG1VxH8siR
https://dl.doubtnut.com/l/_vNfxIDxC78n0
https://dl.doubtnut.com/l/_Pe7cEKDIG5hj

they are

mutually exclusive

° Watch Video Solution

15. Given that the events A and B are such that

1

3
and P(AUB) = gP(B) = P. Find P if they

are independent.

o Watch Video Solution

16. Let A and B be independent events with P(A) =0 .3 and P(B)
=0.4,.Find

P(AN B)

° Watch Video Solution



https://dl.doubtnut.com/l/_Pe7cEKDIG5hj
https://dl.doubtnut.com/l/_kNHBysN9YHVE
https://dl.doubtnut.com/l/_fSj1OZoUmdwk

17. Let A and B be independent events with P(A) =0 . 3 and P(B)
=0.4,.Find

P(AU B)

o Watch Video Solution

18. Let A and B be independent events with P(A) =0 .3 and P(B)
=0.4,.Find

P(A/B)

o Watch Video Solution

19. Let A and B be independent events with P(A) =0 .3 and P(B)
=0.4,.Find

P(B/A)



https://dl.doubtnut.com/l/_kpMEVvIqeF56
https://dl.doubtnut.com/l/_oVY2b06b5lzZ
https://dl.doubtnut.com/l/_AxAmeDvo3xqs

| o Watch Video Solution

20. If E and F are two evetns such that

1 1 1 .
P(E) = 1 P(F) = 5 and P(E and F) = 3 Find P(not
E and not F)

o Watch Video Solution

1
21. Events A and B are such thatP(A) = 3 P(B) = % P

1
(not AornotB) = 5 . State whether A and B are independent

?

o Watch Video Solution



https://dl.doubtnut.com/l/_AxAmeDvo3xqs
https://dl.doubtnut.com/l/_vLX3IsbhxHsR
https://dl.doubtnut.com/l/_YXFn9p4wcdm0

22, Given two independent events A and B such that P(A) =0. 3,
P(B)=0.6.Find

P(A and B)

o Watch Video Solution

23. Given two independent events A and B such that P(A) =0. 3,
P(B)=0.6.Find

P(A and not B)

o Watch Video Solution

24. Given two independent events A and B such that P(A) =0. 3,
P(B)=0.6.Find

P(A or B)



https://dl.doubtnut.com/l/_39lNRkEQe4Uk
https://dl.doubtnut.com/l/_dtsInQC5B5eB
https://dl.doubtnut.com/l/_5FyrfBLk83Z0

| o Watch Video Solution

25. Given two independent events A and B such that P(A) =0. 3,
P(B)=0.6.Find

P(neither A nor B)

o Watch Video Solution

26. A die is tossed thrice. Find the probability of getting an odd

number tieast once.

° Watch Video Solution

27. An urncontains 5 red and 2 black balls. Two balls are

randomly selected. Let x represent the number of black balls.


https://dl.doubtnut.com/l/_5FyrfBLk83Z0
https://dl.doubtnut.com/l/_RMBECwVevJpH
https://dl.doubtnut.com/l/_JkS8GkI4NPQF
https://dl.doubtnut.com/l/_FRIrv358q0Em

What are the possible valuesof X ? Is X a random variable ?

o Watch Video Solution

28. A coin is biased so that the head is 3 times as likely to
occuras tail. If the coin is tossed twice, find the probability

distribution of number of tails .

o Watch Video Solution

29. Two cards are drawn successfully with replacement from a
well- shuffled pack of 52 cards. Find the probability distribution

of number of aces.

° Watch Video Solution



https://dl.doubtnut.com/l/_FRIrv358q0Em
https://dl.doubtnut.com/l/_fiz20qSwlblC
https://dl.doubtnut.com/l/_NUrLz0KFs7oc
https://dl.doubtnut.com/l/_IBK986OeG3e2

30. A family has two children. What is the probability that both

the children are boys given that at least one of them is a boy ?

o Watch Video Solution

31. A fair die is rolled . Consider events E = {1, 3, 5} F = {2, 3} and
G={2,3,4,5}.Find

P(E/F) and P(F/E)

° Watch Video Solution

32. A fair dieis rolled . Consider events E ={1, 3, 5} F = {2, 3} and
G={2,3,4,5}.Find

P(E/G) and P(G/E)

o Watch Video Solution



https://dl.doubtnut.com/l/_IBK986OeG3e2
https://dl.doubtnut.com/l/_fek6HBKIoBqy
https://dl.doubtnut.com/l/_sFrmS3O4HCeN

33. Afair dieis rolled . Consider events E ={1, 3, 5} F = {2, 3} and
G={2,3,4,5}.Find

P(EUF/G) and (EUF/Q)

o Watch Video Solution

34. Assume that each child born is equally likely to be boy or a
girl . If a family has two children, what is the conditional
probability that both are girls given that

the youngest is a girl?

° Watch Video Solution

35. Assume that each child born is equally likely to be boy or a

girl . If a family has two children, what is the conditional


https://dl.doubtnut.com/l/_gJWdC7L6GkKI
https://dl.doubtnut.com/l/_yZQLVDVhD9qb
https://dl.doubtnut.com/l/_tUwIOnKjOaxq

probability that both are girls given that

atleast one is a girls ?

o Watch Video Solution

36. An instructor has a question bank consisting of 300 easy
true /false questions, 200 difficult true/ false question, 500
easy multiply choice questions and 400 difficult multiple
choice questions. If a question is selected at random from the
test bank , what is the probability that it will be an easy

question given that it is a multiple choice question ?

o Watch Video Solution

37. Given that the two numbers appearing on throwing two

dice are different . Find the probability of the events 'the sum


https://dl.doubtnut.com/l/_tUwIOnKjOaxq
https://dl.doubtnut.com/l/_H1vJ4txOXgLU
https://dl.doubtnut.com/l/_wB8mBdQ5y5Pu

of numbers on the dice is 4'.

° Watch Video Solution

38. Consider the experiment of throwing a die, if a multiple of 3
comes up thrown tha die again and if any other number
comes, toss a coin . Find the conditional probability of the

event the coin shows a tail, given that atleast one die shows a

° Watch Video Solution

39. An urn contains 5 red and 5 black balls. A ball is drawn at
random, its colour is noted and is returned to the urn.

Moreover, 2 additional balls of the colour drawn are put in the


https://dl.doubtnut.com/l/_wB8mBdQ5y5Pu
https://dl.doubtnut.com/l/_pXvkM67nGjD3
https://dl.doubtnut.com/l/_69CImWLSixPa

urn and then a balls is drawn at random. What is the

probability that the second ball is red ?

o Watch Video Solution

40. A beg contains 4 red and 4 black , another bag contains 2
red and 6 black balls. One of the two bags is selected at
random and a ball is drawn from the bag which is found to be
red. Find the probability that the ball is drawn from the first

bag.

o Watch Video Solution

41. Let x, represents the difference between number of heads
and the number of tails obtained when a coin is tossed 6

times. What are posible values of x?


https://dl.doubtnut.com/l/_69CImWLSixPa
https://dl.doubtnut.com/l/_b4cbUp6rG0fp
https://dl.doubtnut.com/l/_qXsv5hFR4TNG

o Watch Video Solution

42. Find the probability distribution of

number of heads in two tosses of a coin .

o Watch Video Solution

43. Find the probability distribution of

number of tails in the simultaneous tosses of three coins .

° Watch Video Solution

44.Find the probability distribution of

number of heads in four tosses of a coin .

| o Watch Video Solution


https://dl.doubtnut.com/l/_qXsv5hFR4TNG
https://dl.doubtnut.com/l/_57smHlapsB95
https://dl.doubtnut.com/l/_19NjIrbbo0sn
https://dl.doubtnut.com/l/_H21Jf5WKBMBV

45. A coin is biased so that the head is 3 times as likely to
occuras tail. If the coin is tossed twice, find the probability

distribution of number of tails .

° Watch Video Solution

Three Marks Questions With Answers

1. Of the students in a college, it is known that 60% reside in

hostel and 40% are day scholars (not residing in hostel) .
Previous years results report that 30% of all students who
reside in hostel attain A grade and 20% of day scholrs attain A

grade in their annual examination . At the end of the year, one


https://dl.doubtnut.com/l/_H21Jf5WKBMBV
https://dl.doubtnut.com/l/_PvhBcnAz1LOH
https://dl.doubtnut.com/l/_5lPAdb2u9JSZ

student is chosen at random from the college and he has an A

grade, what is the probability that the student is a hostler ?

o Watch Video Solution

2.In answering a question on a multiple choice test a student
either knows the answer or gueses . Let 3 /4 be the probability
that he knows the answer and 1/4 be the probability that he
guesses . Assuming that a student who guesses at the answer
will be correct with probability 1/4 what is the probability that
a student knows the answer given that he answered it

correctly ?

o Watch Video Solution



https://dl.doubtnut.com/l/_5lPAdb2u9JSZ
https://dl.doubtnut.com/l/_O1vWVdrWFXAT

3. A laboratory blood test is 99% effective in detecting a
certain disease when it is in fact present. However, the test
also yields a false positive result for 0 . 5 % of the healthy
person tested (i.e., if a healthy person is tested, then with
probability O . 005, the test will imply he has the disease). If O .
1 % of the population actually has the disease, what is the
probahility that a person has disease given that his test result

is positive ?

° Watch Video Solution

4. There are three coins. One is a two headed coin (having
head on both faces,) another is a biased coin that comes up

heads 75% of the time and third is an unbiased coin. One of


https://dl.doubtnut.com/l/_sKFUMVKkRmRo
https://dl.doubtnut.com/l/_EdtlrwfZCWma

the three coins is chosen at random and tossed, it shows head

what is the probability that it is was the two headed coin

o Watch Video Solution

5. An insurance company insured 2000 scooter drivers, 4000
car drivers and 6000 truck drivers. The probability of an
accident is 0.01, 0.03 and 0.15 respectively. One of the insured
person meets with an accident. What is the probability that he

is a cooter driver?

o Watch Video Solution

6. A factory has two machines A and B . Past record shows that
machine A produced 60% of the item of output and machine b

produced 40% of the items. Further, 2% of the items produce


https://dl.doubtnut.com/l/_EdtlrwfZCWma
https://dl.doubtnut.com/l/_JdOzVU8pjdOe
https://dl.doubtnut.com/l/_GNRj7Jj1pTYr

by machine A and 1% produced by machine B wer efective. All
the items are put into one stockpile and then one item is
chosen at random from this and is found to be defective .What

is the provability that it was produced by machine B ?

o Watch Video Solution

7. Two groups are competing for the position on the board of
directors of a corporation. The probability that the first and
the second groups will win are 0 . 6 and O . 4 , respectively.
Further, if the first group wins the probability of introducing
anew product is 0. 7 and the corresponding probability is 0. 3
if the second group wins. Find the probability the the new

product introduce was by the second group .

o Watch Video Solution



https://dl.doubtnut.com/l/_GNRj7Jj1pTYr
https://dl.doubtnut.com/l/_TrJbhye7YWYq
https://dl.doubtnut.com/l/_tUqRvnOaDa8C

8.Suppose, a girl throws a die. If she gets a 5 or 6 she tosses a
coin three and notes the number of heads. If she gets 1,2,3 or
4 she tosses a coin once an notes whether a head or tail is
obtained. If she obtained exactly one head, what is the

probability that she threw 1, 2, 3 or with the die ?

o Watch Video Solution

9. A manufacturer has three maching operators A, B and C .
The first op erator a produces 1% defective items , where as
the other two operators B and C produce 5% and 7% defective
items, respectively. A is on the jop for 50% of the time, B on the
job for 30% of the time and C on the job for 20% of the time.A
defective item is produced , what is the probability that it was

produced by A ?

| a war_a_L v l_ _ ~_ .0 _


https://dl.doubtnut.com/l/_tUqRvnOaDa8C
https://dl.doubtnut.com/l/_GoQIWoAqPMgY
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10. A card from a pack of 52 cards is lost . From the remaining
cards of the pack , two cards are drawn are are found to be
diamonds. Find the probability of the lost card being a

diamond ?

o Watch Video Solution

Five Marks Questions With Answers

1. From a lot of 30 bulbs which include 6 detective, a sample of

4 balls is drawn at random with replacement. Find the

probability distribution of the number of defective bulbs.

o Watch Video Solution



https://dl.doubtnut.com/l/_GoQIWoAqPMgY
https://dl.doubtnut.com/l/_2Fi0JuDGY1HK
https://dl.doubtnut.com/l/_Usas0UaLbXwf

2. A die is thrown 6 times. If getting an odd number is success,
What is the probability

(a) 5 successes

(b) at least 5 successes

(c) at most 5 successes

o Watch Video Solution

3.Adie is thrown 6 times. If getting an odd number is success,
What is the probability

(a) 5 successes

(b) at least 5 successes

(c) at most 5 successes

o Watch Video Solution



https://dl.doubtnut.com/l/_mlYk04LVRdF1
https://dl.doubtnut.com/l/_d9Rm9e8ZY4pI
https://dl.doubtnut.com/l/_PAxtLB6iYMwf

4. A die is thrown 6 times. If getting an odd number is success,
What is the probability

(a) 5 successes

(b) at least 5 successes

(c) at most 5 successes

o Watch Video Solution

5.1f a fair coin is tossed 10 times, find the probability of.

(i) exactly six heads and (ii) atleast six heads.

o Watch Video Solution

6. If a fair coin is tossed 10 times, find the probability of.

(i) exactly six heads and (ii) atleast six heads.

| o |


https://dl.doubtnut.com/l/_PAxtLB6iYMwf
https://dl.doubtnut.com/l/_uXzmbuEe46XE
https://dl.doubtnut.com/l/_sZo3OgvKbqfv

[ W Watch Video Solution ]

7. A fair coin is tossed 10 times. Find the probability of

at most 6 heads .

o Watch Video Solution

8. A pair of dice is thrown 4 times. If getting a doublet is

considered a success find the probability of 2 success.

° Watch Video Solution

9. There are 5% defective items in a large bulk of items. What is
the probability that a sample of 10 items will include not more

than 1 defective item.

[ o ]


https://dl.doubtnut.com/l/_sZo3OgvKbqfv
https://dl.doubtnut.com/l/_dfFt75DNvm0A
https://dl.doubtnut.com/l/_zapWe7TLwC5W
https://dl.doubtnut.com/l/_27fXgDMZd4bi

A Watch Video Solution

10. Five cards are drawn successively with replacement from a
well shuffled deck of 52 cards. What is the probability that

(i) all the five cards are spades?

only five three cards are spaces?

(iii) none of spades?

o Watch Video Solution

11. Five cards are drawn successively with replacement from a
well shuffled deck of 52 cards. What is the probability that

(i) all the five cards are spades?

only five three cards are spaces?

(iii) none of spades?

| o Wiakdl.\tdaa CAl..klam


https://dl.doubtnut.com/l/_27fXgDMZd4bi
https://dl.doubtnut.com/l/_uSNGrX0Y75Ry
https://dl.doubtnut.com/l/_YXfmisVva1Ag
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12. Five cards are drawn successively with replacemet from a
well-shuffied pack of 52 cards. What is the probability that

one is a spade

o Watch Video Solution

13. A person buys a lottery ticket in 50 lotteries, in each of
1

which his chance of winning and prize is 100" What is the

probability that he will win a prize.

(a) at least once

(b) exactly once

o Watch Video Solution



https://dl.doubtnut.com/l/_YXfmisVva1Ag
https://dl.doubtnut.com/l/_0QNRXCdWv2lu
https://dl.doubtnut.com/l/_Dx9sDQ5qhISs

14. Find the probability of getting 5 exactly twice in 7 throws of

adie

o Watch Video Solution

15. On a multiple choice questions with three possible answers
for each of the five questions, what is the probability that a
candidate would get 4 or more correct answers just by

guessing ?

o Watch Video Solution

Try Yourself One Marks Questions



https://dl.doubtnut.com/l/_ZKXsUxknvQ0T
https://dl.doubtnut.com/l/_pN4ETX3S6C27

1. An urncontains 5 red and 2 black balls. Two balls are
randomly selected. Let x represent the number of black balls.

What are the possible valuesof X ? Is X a random variable ?

o Watch Video Solution

2.Find P(A/B), if P(B) = 0.5 and P(A N B) = 0.32

o Watch Video Solution

3. A fair die is rolled. Consider events E = E {2,4,6}and F{1,2} .

Find P(E/F)

o Watch Video Solution



https://dl.doubtnut.com/l/_BlhrsAzXMj37
https://dl.doubtnut.com/l/_AUCvxCJHZJ7q
https://dl.doubtnut.com/l/_w2vInp0jy7I0

Try Yourself Two Marks Questions

1. A die is thrown. If E is the event 'the number appearing is a
multiple of 3" and F is the event 'the number appearing is even',

then find whether E and F are independent?

o Watch Video Solution

2. Probability distribution of x is

T 0 1 2 3 4
p(X1) 01 k 2k 2k k
Find k..

o Watch Video Solution



https://dl.doubtnut.com/l/_S6Z3nZZA1sAY
https://dl.doubtnut.com/l/_9crIui8FGplq

3. Two cards drawn at random and without replacement from a
pack of 52 playing cards. Find the probability that both the

cards are black .

° Watch Video Solution

Try Yourself Three Marks Questions

1. Consider the experiment of tossing two fair coins

simultaneously, find the probability that both are head given

that at least one of them is a head.

o Watch Video Solution



https://dl.doubtnut.com/l/_C8vAsYnyQZHa
https://dl.doubtnut.com/l/_0eSihIWHYf2S

2. A man is known to speak truth 4 out 5 times. He tossed a
coin and reports that is head. Find the probability that it is

actually head.

° Watch Video Solution

3.Bag | contains 3 red and 4 black balls. While Bag Il contains 5
red and 6 black balls. One ball is drawn at random from one of
the bags and it is found to be red. Find the probability that it

was drawn from Bag II.

o Watch Video Solution

Try Yourself Five Marks Questions



https://dl.doubtnut.com/l/_QtsKk1f0lhLo
https://dl.doubtnut.com/l/_IKdbOi3aZIkE

1. If a fair coin is tossed 8 times. Find the probability of

at least five heads.

o Watch Video Solution

2. Find the probability of getting at most two sixes in six

throws of a single die .

° Watch Video Solution

3. A person buys a lottery ticket in 50 lotteries, in each of which
his chance of winning and prize is 100" What is the
probability that he will win a prize.

(a) at least once

(b) exactly once



https://dl.doubtnut.com/l/_gmqBPcPZi4An
https://dl.doubtnut.com/l/_6k1ClnztLbKO
https://dl.doubtnut.com/l/_qVg6WKRSU0W0

I ° Watch Video Solution



https://dl.doubtnut.com/l/_qVg6WKRSU0W0

